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EQUAZIONI DI PRIMO GRADO LETTERALI INTERE

1. axt+tl-a=0 Sea=0:imp. Sea#O:x:aT_1
2. 3x—a=a(x-3)+6 Sea=3:ind. Sea#3:x=2
3. (a+b)x=4b-(b-a)x Seb=0:ind. Seb#0:x=2

4 (2-a+b)x=b(x-2)+2(x+b-3)

Sea=0:imp. Seal:to:x:E
a

5. 3Xx—-(x+a)=2(x+a)-4a Sea=0:ind. Sea#0:imp.
6. 2bx-3(b-1)=bx-2b S©b=0'imp. Sbz0:x=2"3
imp. : .
7. 3a(x—-3a+2)=x+1 ca=tiind seazlix=za-1
5 ind. 5
8. a(bx-2x+1)=abx-2(ax+1) Sa=-2:ind.  Sea#-2:imp.
9. (a_b)X:a+b Sea=b=0:ind. Sea=bz0:imp. Sea¢b:x::J_rE
10. a(x-b-1)=2(x-b)-2 Sa=2:ind. Seaz2:x=b+1
11. abx=a+b a+b

Sea=b=0:ind. Sa=0eb#z0:imp. Seb=0eaz0:imp. &a#Oeb#O:x=ab

12. 2b(x—-2b) +x+1=0

Sb=-1:ind Sbz-L:x=2b-1
2 2

13. 2(ax—1)=b Sea=0eb=-2:ind. Sea=0ebz-2:imp. Sea¢0:x:%

14. ax—a(2a-1)+(a+l)x=4(a+2)-2(3a+5) 1

Sea=-=:ind. Sea#—l:x=a—2
2 2

15. (a+3b)x+a=b-(2b-a)x b-a

Sea=b=0:ind. Seb=0ea#0:imp. Seb#0:x= 5




